Answer true (T) or false (F) according to the listening activity

Conversation 1:
a. My mother and father are very similar

b. Her dad is older than her mother

c. My father is more active than my mother

d. My mother is taller than my father.

Conversation 2:
a. Los Angeles and San Francisco are both in California

b. Los Angeles is smaller than San Francisco

c¢. San Francisco is colder than Los Angeles

d. San Francisco is more expensive than Los Angeles

e. Los Angeles is a better place to live




Conversation 3:
a. The old Star Wars are better than the new ones

b. The characters are more interesting in the old movies

c. She feels happier watching the old movies

Listen and compete:

Los Angeles and San Francisco are both in California but they are

very . San Francisco is than Los Angeles. It is
also . Los Angeles is than San Francisco, but San
Francisco is expensive. It is harder to find in San
Francisco. | think San Francisco is a place to live.
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